Malko Academy

Ear Training & Theory Test

This is a previous version of the test.
The 2022 version is different -
but the disciplines and the difficulty are similar

There is no audio for this version of the test -
the answers for the auditive part are therefore written out

The Test Consists of 8 Parts

Ear Training

- Scales

- Intervals

- Chords

- Function Analysis
- Structure Analysis

Theory (20 min)

- Transpositions & Clefs
- Score Reading
- Score Analysis



Scales

There are 4 scales
Write the scales in the boxes -
eg. Major / Dorian
Complete the scale

(Each scale was played twice)
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Intervals |

There are 4 empty bars
In each bar there are two notes,
each one making an interval
The interval are then written in the boxes

(The melody was played twice)
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Write the intervals in the boxes

(Each interval was played once)

Fifth Minor 3 Major 7 Minor 6




Chords

Write the chord types in the boxes
Eg: Major 7 / Minor

(Each chords was played once)
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Function Analysis

Write the melody and bass

Write the harmonic functions in the boxes

eg: Tonic (T) / Dominant (D)

(The choral was played through once

Then each line was played twice

Finally the choral the played though again)
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Structure Analysis

A short piano piece is played
Listen for the musical structure of the piece

Write the structure A B A C
in the boxes - eg:

ATIBHRIAIIA

You can use all the boxes - or you can use less.

(The piece was played through once)

The piece used for this exercise was:
“March of the wooden Soldiers” by Tchaikovsky

Comments or remarks about the piano piece:

That is it!
That is the first part of the test

Next up - theory...




Transpositions & Clefs

Transpose the music to
concert pitch / standard pitch
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Score Reading

Read the score and write the chords in the boxes
eg: C Major / G Minor
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Score Analysis

Look at each score and write about which style are they in,
and what is characteristic about each of them.
When were they written, approximately,
and who could the composers be.

Write in the three boxes on this page,
corresponding to the score numbers

Score 1

Score 2

Score 3




Score 1

MENUETTO.
Allegretto.
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Score 2

II} (10-28x) (16-48x)  (6-14x) (10 14x)  (6-12x) (6 12x) (6 12x) (6-12x) (6-12x)  (6-12x)
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8 Oboen.
Clarinette in Es.
2 Clarinetten.

(in B)

3 Fagotte.
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